BRRBGEBDE AN AR T

S 64 6H21H

AT SR NS
KH/INFREHA A7 — LS ATEL T
S6ET F PN
144 2UFAE 34 A 54 644
TR SRR R () 3(2) 4(2) 6(3) 9(2) 10(1) 9
TRABE 2 1 8 3 6 2
B | B
THBEE 3 5 1 8 5 7
. _ THKEO@ 15:10 #13¢
B FRD 1410 TH® 15:35 S<BEIDEA 25— Rt AR
) - st TR 15:50 SKHZEHIDER L& —= B A E=R KT
2 | k& |A6-12-3<5 THD 14:50 S<HEH= M =85 KT TG 16.15 Hik "
3| Kk [A6-174 TRO 14:50 4L—hk TKE®@ 15:50 4 L—h
4 | A& |A6-173 THO 14:50 &KbEI=EF B Z—HT=REKAT THK® 15:50 4L—h
. _ THKE@ 15:50 #3¢
5| & etz FRD 14:50 Bk THR® 16115 E<5EIm kL 5 —= B A= HK TR

8 | A [B5-2-&<5 TREO 14:10 KBS —=BIHRE=RKFTHT FR@ 14:35 H1I
9 | k |B5-A-HI3T THRO 14:10 #3X  TKRO 14:35 SKBEIDER LU —=BIHAE=RKTH
10 | & |B5-2-&<b TREO 14:10 KBS —=BIHRE=KKFTHT FR@ 14:35 HI
11| K |B5-4-H13C THRO 14:10 #3X  TKRO 14:35 SKBEIDER LU —= BIHAE=RKPTH
12 | & |B5-2-&<b TREO 14:10 KBS —=BIHRE=KKFTHT FR@ 14:35 H1I

16 | k |B5-4-Hh3r THO 14:10 #H3X  THO 14:35 KbEI=ENEZ—= B A E=REKRATET
17 | K |BS-2-&b THRO 14:10 KbEI=2BMNEL2—= BB RE=KFKART FRO® 14:35 #i3X
18 | A |B3-4-#i3C THKO 11:20 #3z  FTRO—2 11:45 XKHEIDEFELZ—= B A RERKT

& |B3-4-Hir

TEO 11:20 #13z  FHEO—2 11:45 XbEH=EAbv 2 —= B A =k KT




